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Exercise 2.1:

@  zx *

(b) >C=[215;106;-624]

C=
sl 325
1 0 6
-6 2 4

>>d=[-1;2;3]
d: a
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(c) >>C*x-d
ans =
1.0e-15 *
-0.4441
0
0

Exercise 2.2

>>C =[-104; 15 -6]

C=
-10 4
15 -6

>>d =[0:0]

d=

0

0
>>x=C\d

Warning: Matrix is singular to working precision.

x:
NaN p
NaN
Solve by hand: * .
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Exercise 2.3

(2)>>C=[1-32;-26-4;4-12 8]

C=
1 -3 2
2 6 -4
4 -12 8
>>d =1[0;0:0]
d=
0
0
0
>> rref([C d])
ans =
b3 2@
Oxsd0% 20450
0 0 0 O

Thus x; = 3x, + 2x3. There are two free variables.

Exercise 2.7
()L=[01/21/411/31/301/40051/31/2001/3;1/30 1/401/3;00 1/400]
.=
0 0.5000~ 0.2500 1.0000 0.3333
03333 0 0250 0 0
03333 05000 0 0 03333
03333 0 02500 0 0.3333
0 0 0250 0 0
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(b)>>l=[10000;01000;00100;00010;00001]

c o o @

o ©o ©o o ©

>> rref([L-1d])
ans =
1.0000 0 0 0 -6.3333
0 1.0000 0 0 -3.1111
0 0 1.0000 0 -4.0000

S & o 9O

0 0 0 1.0000 -3.4444
0 0 0 0 0 0

A by . . 1 1 4
This tells us that xg is our free variable and x; = 6-3-x5, X, = 3;x5, X3 = 4x5, X4 = 3;x5,

(c) Website A has the highest PageRank. In order of decreasing PageRank, the others are C, D, B, E.




